3
&
18
<
-
£ 1=
o
-~ PRl YT =
g g 5 8 7 5
[ovarzH] adois
*
1=
s
e
[30)
-
£ 1=
o
s
3
J J Js " J
[ovayzH] adojs -
. .
- 3
i& 4
e EE
o~ ©
- -
S 1s £ 13
a o
1. 35
-~
-]

[ovarzH] adois

[ovarzH] sdois

Pmt 1

= =
& &
1z EE
12 EE
2 g

o]

-
18 £ 18

o
1s 1=
1s 1=

-~ -~
[ovarzH] adojs [ovarzH] adois



Slope at threshold 25

_ hSlopeMean0
— Entries 384
B Mean 0
L Std Dev 0
Underflow 0
102 — Overflow 0
= Integral 384
N Skewness inf
10 —
1=
= | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
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Slope at threshold 50

_ hSlopeMeanl
— Entries 384
B Mean 0
L Std Dev 0
Underflow 0
102 — Overflow 0
= Integral 384
N Skewness inf
10 —
1=
= | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
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Slope at threshold 100

10

hSlopeMean2
Entries 384
Mean 5.909
Std Dev 2.608
- Underflow 0
— Overflow 150
L Integral 234
i SkeLerss 0.01424
1_
| | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
-10 -8 -6 -4 -2 0 2 4 6 8 10

Slope [Hz/DAC]



Slope at threshold 200

hSlopeMean3
Entries 384
Mean -2.532
Std Dev 1.689
Underflow 36
Overflow 0
Integral 348
Skewness —-0.7933
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